ASSEMBLY INSTRUCTION
INSTRUCTONS DE MONTAGE

SIDE CHAIR / CHAISE

DO NOT TIGHTEN BOLTS UNTIL CHAIR IS COMPLETELY ASSEMBLED.
NE PAS SERRER LES BOULONS JUSQU'A CE QUE LE MONTAGE SOIT
COMPLETEMENT TERMINE

STEP:1

NO| DESCRIPTION Q1Y | ETAPE:1
A “Chair back 1PC
Dossier de chaise 1MCX -
Seat: 1PC
B Sieége F 1IMCX ﬂ
Fornt leg 2PCS
CH Pieds avant 2MCX C\ _
D Lock washer @5/16" |11pCS
—_|Rondelie d'arrét 11MCX ﬂ
£ Flat washer @5/16" |11PCS m,&
Rondelle plate 11MCX H
F Bolt -®5/16"x3-1/2" | apcs
Boulon 4MCX
G Bolt ©5/16"x2" 3PCS
Boulon M
H Bolt 95/16")(2"‘1/2_" 4PCS
Boulon 4MCX
Cié alien " 1PC
,I Allen wrench @5/16" | 1mcx
STEP 1: Place seat (B) on a smooth flat surface. Using the Allen wrench (1),

attach front leg (C) to seat (B) using bolts (H), lock washer (D) and flat washer (E)
as shown through both holes. Do not tighten =

ETAPE' 1:  Placer le sié ge (B) surune surface lisse plate. En utilisant la
clé Allen (1), installer un pied avant (C) a siége (B) avec les boulons (G),
les rondelles d'arrét (C) et les rondelles plates (D) comme montré . Ne pas

sefrer.




STEP: STEP 2: A: Place chair back
Zrapea  (A) onasmooth, flat sutface.

. Position the seat assembly from
step 1. Using the Allen wrench (1},
attach bolts (F), lock washers (D)
and flat washers (E) through the
corner holes as shown. Do not
tighten.

ETAPE 2: A Placer le dossier
(A) sur une surface lisse plate.
Positionner 'ensemble du sié ge de
I'é tape 1. En utilisantla clé Allen
(), installer les boulons (F), les
rondelles d'arrét (D) et les rondelles
plates (E) dans les trous des coins
comme montré. Ne pas serrer.

STEP 2: B: Using the Allen
wrench (1), attach bolts (G), lock
washers (D) and flat washers (E)
through the central holes as shown.
Do not tighten.

ETAPE 2;  B: En utilisantlaclé
Alien (1), installer les boulons (G),
les rondelles d'arrét (D) et les
rondelles plates (E) dans les trous
centraux comme montré. Ne pas
serrer.

STEP:3
ETAPE:3

STEP 3: Place chair on an
even floor and balance evenly.
" Tighten all bolts.

ETAPE 3: . Placer la chaise sur un
plancher é gal et niveler. Serrer
toutes les vis et tous les boulons.




